=LPDB

3UDFRZQLN 5RINiDG GU . RUQDFND 6NZDUD (OIiELHWD 7\J

7N\J

8PLHICIQRGFL DVHUNZQH
iZ G .RUQDFND
6NZDUD ((TEHID =%
Y$0 7/
76 )*0 =

7N\J

8PLHUC‘HQRGFL DVHUNZQH
0Z GU .RUQDFND
6NZDUD (CTELHWD =%

50 /
1-$

7N\J

-RQVXIDFIH GU . RUQDFND 6NZDUD
(UTEHID
SRN

7N\J

6SHF QDXFJ\ 3RGVIDZ\
SVAFKRIRJL GID
QDXF\FIHL GU . RUQDFND
6NZDUD ((TEHID =%

©/ G
/ 8&.81%$/
3313 8&.8 1$/
3313/

*  1JRGQIH] 8626

7N\J

6SHF QDXF]\ 3RGVIDZ\
SVAFKRIRJLL GID
QDXFJ\FLHL GU . RUQDFND
6NZDUD (ITEWHID =%
D/ z
8&.81%/ 3313
8&.81%/ 3313
/

*  1JRGQIH] 8626

7N\J

6SHF QDXF]\ 3RGVIDZ\
SVAFKRIRJLL GID
QDXF]J\FLHL GU - RUQDFND
6NZDUD (ITEIHID =%
)/ z

+6/7 1% 7

N/ -
8&.81%/ 3313
8&.81%/ 3313
/

7N\J

6SHF QDXF]\ 3RGVIDZ\

SV\FKRIRJLL GID

QDXF]\FLHL GU - RUQDFND

6NZDUD ((TELHID =%

)87 7/

1-$ )/ -

D/ - 8&.81%

/ 3313 8&.8 1%/
3313/

*J  ]JRGQIH] 8626

7N ]
7\G] 6SHF QDXF]\ 3RGVIDZ\
7\G
6SHF SVAFKRIRJLL GID \ 1
QDXFI\ QDXFI\FIHL GU - RUQDFND 7\G] 6SHF
3RGVIDZ\ GNZDWD (ITEHID =% 6SHF QDXFI\
SVAFKRIRJLL ¥/ 7 QDXFI\ 3RGVIDZ\
1-$ &/ &l :Dl 3RGVIDZ\ SVAFKRIRJLL
QDXF\FLHLL )/ : 8&.8 SVAFKRIRJLL GID
Gl 1$/° 3313 8&.8 GID QDXFI\FLHIL
- - RUQDFND 1$/ 3313/ QDXFI\FLHIL Gl
T 6NZDID - el - RUQDFND
g QTEHID = U 1JRGQIH ] 8626 -RUQDFND 6NZDUD
= % 6NZDUD QTEHID =
© ©7/ (TEHD 8 %
L )
a7/ . . &.81%/ ¥/ 7
g 8&.8 \e \el 3313 1-$ )
7 1%/ 6SHF 6SHF 8&.8 1% /=
3313 QDXFI\ QDXF]\ / 3313 D/
8&.81% 3RGVIDZ\ 3RGVIDZ\ / - 8&.8
7 3313 SVAFKRIRJL || |SVAFKRIRJL 17
7 GID GID N 3313
- an(F]\FLHOL an(F]\FLHUL §&_8 1%
3313
ygg%“ 1 - RUQDFND -RUQDFND 7
6NZDID 6NZDUD -
ITEHID = (TEHID =
050 02 : JIRGQH ]
&/ 7 B Y 8626
1-$ & || - 8&.8
/ &l 1%/
o 3313
Y 8&.8 1$
-'s&.8 || |/ 3313
1%/ /
3313 -
8&-8 18 || 11JRGQH ]
7 3313|| ggog
/
=
1IRGQH ]
8626
n
o
D

&]




=LPDB

3UDFRZQLN 5RINiDG GU . RUQDFND 6NZDUD (OIiELHWD 7\J

7N 7N
=z
(% 8PLHICIQRGFL DVHUNZQH 8PLHICIQRGFL DVHUNZQH
Q iz Gl .RUQDFND iz Gl -RUQDFND
n 6NZDUD (ITEHID = 6NZDUD (ITEHID =
)$6 ot )$6 ot
7N 7\6] 7 7 7
-RQUXIDFIH GU . RUQDFND -RQUXIDFIH GU . RUQDFND 6SHF QDXF] 6SHF QDXF] 6SHF QDXF]
6NZDUD (ITELHID 6NZDUD (ITELHID 3RGVI SV\FK GID 3RGVI SV\FK GID 3RGVI SY\FK GID 7\G]
_RQVXIDFH JGDIOH H _RQVXIDFH JGDIOH H QDXF] V] SRQDGSRGVI G QDXF] V] SRQDGSRGVI G QDXF] V] SRQDGSRGVI G 6SHF
QDXND NRQIDNI PDIRZ\ QDXND NRQIDNI PDIRZ\ U -RUQDFND 6NZDUD U -RUQDFND 6NZDUD U -RUQDFND G6NZDUD QDXF\
H VNZDUDZEXIG HGX S0 QDU H VNZDUD#EXIG HGX S0 QDU CIIEHID = ( )% CIIEHID = ( )$ CIIEHID = ( )% 3RGVIDZ\
1CGTH v 1CGTH v 6 1% :)6 6 1% :)6 6 1% :)6 SHGDJRJIN.
- 88.81$6 - 88.81$6 - 88.81$6 GID
3316 3316 3316 QDXF\FLHLL
V1 Gl
7\6] 7\6] N _RUQDFND
a 6SHF QDXF] 6SHF QDXF] -RQVXIDFIH GU . RUQDFND BNZDD -
@ 3RGVI SHGDJ GID 3RGVI SV\FK GID 6NZDUD (ITEIHID EU'ElH“D
QDXF] VINyi QDXF] V] SRQDGSRGVI G . ‘ )
g SRQDGSRGVIDZRZ\FK Gl U . RUQDFND 6NZDUD QSSAYEJ(UK‘%%FD%%%ERHZ\ Esse :
-RUQDFND BNZDUD QTERD = )$ K UNZDIDZ£XIG HOX S0 e
QTEHD = )$ 6 :1-% :)6 :
6 18 :)6 : 88.81%6 el b o8
- 88.81$6 3316
3316 6SHF QDXF] 3316
3RGVI SY\FK GID
QDXF] V] SRQDGSRGVI G
U _ RUQDFND 6NZDUD
QTEAD = )$
6 - 1-% z)6
- 88.81$6
3316
7N 7N
6SHF QDXF]
a 6SHF QDXF] 3RGVI SV\FK GID
I 3RGVI SV\FK GID QDXF] V] SRQDGSRGVI G
= QDXF] V] SRQDGSRGVI G U - RUQDFND 6NZDUD
Q U RIQDFND 6NZDUD QTEIHID =DICFID RQ 1.QH
2 (ITEIHID =DICFID RQ 1.QH )56 - 1-$
)56 - 1-$ )6 : 8&.81%
)6 = 8&.81% 6~ 3316

6 3316




=LPDB
3UDFRZQLN 5RINiDG GU . RUQDFND 6NZDUD (OIiELHWD 7\J

QLHG]LHOD

7\G]
6SHF QDXF

1

3RGVI SV\F
K GID
QDXF] V]
SRQDGSRGV
el

- RUQDFND
6NZDUD
(ITEHID =
DICFLD RQ
WQH )%
6 -
1-$

z)6

- 8&.8
1$6
3316




